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1. “•ÛóÛÐüïõ¶Ûà ÍÛ¾Û©ÛäÅÛÛ ÍÛà¾ÛÛ×©Û …ÈÛéœ÷¶ÛÛ þùÁõ¶ÛÛ× ”ýÛÛÅÛ Š¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé.” …ÛïèõÜ©Û ÍÛÜÐü©Û ˜Û˜ÛÛÙ ïõÁõÛé.  14 

 “The consumer equilibrium is dependent on the concept of marginal rate of 
substitution.” – Elaborate. 

   …¬ÛÈÛÛ/OR 

 (a) •Ûàºõ¶Û ÈÛÍ©Ûä¶ÛÛé ”ýÛÛÅÛ …ÛïèõÜ©Û ³ùÛÁõÛ ÍÛ¾Û›ÛÈÛÛé.  

  Explain the concept of ‘Giffen goods” with the help of the diagram. 

 (b) ÜÐüîÍÛ¶Ûà …ÈÛéœ÷ …ÍÛÁõ ˜Û˜ÛÛë.  

  Discuss the Hicksian ‘Substitution effect’. 

 

2. Ü¼Û¶Û-¸Ûó¾ÛÛ¨ÛÍÛÁõ ÍÛÛµÛ¶Û ÍÛ×ýÛÛé›÷¶Û¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé. 14 

 Examine the law of variable proportions. 

   …¬ÛÈÛÛ/OR 

 (a) ÍÛ¾Û-Š©¸ÛÛþù¶Û …¶Ûé ÍÛ¾Û-”Û˜ÛÙ Áéõ”ÛÛ…Ûé ³ùÛÁõÛ ˆÌ¤ø©Û¾Û ÍÛÛµÛ¶Û ÍÛ×ýÛÛé›÷¶Û¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé.  

  Explain the concept of optimum factor combination with the help of Iso-quants 
and Iso-cost lines. 

 (b) ‘ÍÛ¾Û©Ûä¤ø Ý¼Ûþäù’¶ÛÛé ”ýÛÛÅÛ …ÛïèõÜ©Û ³ùÛÁõÛ ÍÛ¾Û›ÛÈÛÛé.  

  Discuss the ‘Break-Even’ point analysis. 

 

3. ¸Ûæ¨ÛÙ ÐüÜÁõºõÛˆ¶ÛÛ× ¼Û›ÛÁõ¾ÛÛ× ¤æ×øïõÛ …¶Ûé ÅÛÛ×¼ÛÛ •ÛÛÇÛ¶Ûà ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ þùÉÛÛÙÈÛÛé. 14 

 Analyse the short and long run equilibrium of the firm under Perfect Competitive 
Market. 

   …¬ÛÈÛÛ/OR 
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 (a) ˆ›ÛÁõÛ ¼Û›ÛÁõ¾ÛÛ× ¾ÛÛ×•ÛÁéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ …Û¸ÛÛé.  

  Explain the demand curve in monopoly market. 

 (b) Ýïõ¾Û©Û-½Ûéþù½ÛÛÈÛ¶Ûà …ÛÈÛÉýÛïõ ÉÛÁõ©ÛÛé ˜Û˜ÛÛë.  

  Discuss the various conditions for price-discrimination.  

 

4. ˆ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé ©Û¬ÛÛ …Û ¼Û›ÛÁõ¾ÛÛ× •Ûóä¸Û¶Ûà ÍÛ¾Û©ÛäÅÛÛ ˜Û˜ÛÛë. 14 

 Give the meaning of monopolistic competitive market. Discuss the ‘group’ 
equilibrium in it. 

            …¬ÛÈÛÛ/OR 

 (a) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ×•ÛÁéõ”ÛÛ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

  Analyse the Kinked Demand Curve Model. 

 (b) Ü³ùÐüÍ©Ûïõ …¶Ûé Ü³ù¸Û“ÛàýÛ ˆ›ÛÁõÛ¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé.  

  Explain the concept of duopoly and bilateral monopoly. 

 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 14 

 Choose correct answer : 

 (1) ÍÛÛíé¬Ûà Š¸ÛÁõ¶Ûà ©Û¤øÍ¬Û Áéõ”ÛÛ ________ ÍÛ×©ÛÛéÌÛ þùÉÛÛÙÈÛé ™öé.  

  (a) ÍÛ¾ÛÛ¶Û  (b) …Ûé™öÛé (c) ÈÛµÛä 

  The higher Indifference Curves shows _______ amount of satisfaction. 

  (a) equal (b) lower (c) greater 

 (2) ¾ÛÛ×•Û¶Ûä× ©Û¤øÍ¬Û Áéõ”ÛÛ ÜÈÛÊÅÛéÌÛ¨Û ________ …Û¸ýÛä×. 

  (a) ¾ÛÛÉÛÙÅÛ (b) ÜÐüîÍÛ (c) ˜Ûé¾¼ÛÁõÅÛà¶Û 

  The Indifference Curve analysis is given by _______. 

  (a) Marshall (b) Hicks (c) Chamberlain  

 (3) šýÛÛÁéõ •ÛóÛÐüïõ¶Ûà …ÛÈÛïõ ÈÛµÛé, ©ýÛÛÁéõ ©ÛïõÁéõ”ÛÛ ________ ©ÛÁõºõ ›ÛýÛ ™öé.  

  (a) X-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ  (b) Š¸ÛÁõ  (c) ¶Ûà˜Ûé  

  When the income of the consumer rises, the budget line shifts _______. 

  (a) parallel to X-axis (b) upward (c) downward 
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 (4) •ÛóÛÐüïõ¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶ÛÛ× Ý¼Ûþäù…é, ©ÛïõÁéõ”ÛÛ …éïõ ˜ÛÛé‘õÍÛ ©Û¤øÍ¬Û Áéõ”ÛÛ¶Ûé ________ ™öé.  

  (a) Í¸ÛÉÛë (b) ™öéþéù (c) þæùÁõ ÐüÛéýÛ  

  In consumer’s equilibrium point the budget line _______ a particular 
Indifference Curve. 

  (a) touches (b) cuts (c) far from 

 (5) •Ûàºõ¶Û ÈÛÍ©Ûä¾ÛÛ× Ýïõ¾Û©Û¾ÛÛ× ›÷é ÜþùÉÛÛ¾ÛÛ× ¸ÛÁõàÈÛ©ÛÙ¶Û …ÛÈÛé ©Ûé¶Ûé ¸ÛÁõà¨ÛÛ¾Ûé ________ ÜþùÉÛÛ¾ÛÛ× 
¾ÛÛ×•Û¾ÛÛ× ¸ÛÁõàÈÛ©ÛÙ¶Û …ÛÈÛé ™öé. 

  (a) ÜÈÛÄõ±ù (b) ¸Ûó©ýÛ“Û (c) ÍÛ¾ÛÛ¶Û 

  In Giffen goods the demand for the commodity changes in the _______ direction 
as the price change. 

  (a) inverse (b) direct (c) same 

 (6) šýÛÛÁéõ Š©¸ÛÛþù¶Û¶ÛÛ× ÍÛÛµÛ¶ÛÛé¾ÛÛ× …ÛÈÛéÅÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û ïõÁõ©ÛÛ× Š©¸ÛÛþù¶ÛÛ× …ÛÈÛéÅÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û …Ûé™ä×ö ÐüÛéýÛ 
©ÛÛé ©Ûé¶Ûé ________ ¾ÛÇ©ÛÁõ¶ÛÛ× Ü¶ÛýÛ¾Û ©ÛÁõàïéõ …ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

  (a) ÈÛµÛ©ÛÛ×  (b) –Û¤ø©ÛÛ (c) ÍÛÁõ”ÛÛ 

  When the output increases in a smaller proportion as compared to increase in the 
amount of factors. It is known as _______ returns to scale. 

  (a) increasing (b) diminishing (c) constant  

 (7) ÍÛ¾Û©Ûæ¤ø Ý¼Ûþäù…é ________ ÐüÛéýÛ ™öé.  

  (a) ¶ÛÜÐü ¶ÛºõÛé ¶ÛÜÐü ”ÛÛé¤ø (b) ÅÛ–Ûä«Û¾Û ¶ÛºõÛé (c) ¾ÛÐü«Û¾Û ”ÛÛé¤ø 

  At a break-even point there is _______. 

  (a) no profit no loss (b) minimum profit (c) maximum loss 

 (8) ________¶ÛÛ ÍÛ¾ÛýÛé ¼ÛµÛÛ ›÷ ÍÛÛµÛ¶ÛÛé ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÐüÛéýÛ ™öé.  

  (a) ¾ÛµýÛ¾Û •ÛÛÇÛé (b) ÅÛÛ×¼ÛÛ •ÛÛÇÛ (c) ¤æ×øïõÛ •ÛÛÇÛ  

  The _______ refers to that period of time in which all inputs are variable. 

  (a) medium run (b) long run (c) short run 

 (9) ¸Ûæ¨ÛÙ ÐüÜÁõºõÛˆ¶ÛÛ× ¼Û›ÛÁõ¾ÛÛ× ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ Ð×ü¾ÛéÉÛÛ ÍÛà¾ÛÛ×©Û …ÛÈÛïõ ________ ›÷ ÐüÛéýÛ ™öé.  

  (a) ›÷é¤øÅÛà  (b) ¬Ûà ¾ÛÛé¤øà  (c) ¬Ûà ¶ÛÛ¶Ûà 

  In the Perfect Competitive Market the firm’s average revenue is always _______ 
to marginal revenue. 

  (a) equal (b) greater (c) smaller  
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 (10) Ýïõ¾Û©Û ½Ûéþù½ÛÛÈÛÈÛÛÇÛ ˆ›ÛÁõÛ¶Ûà ¾Ûä”ýÛ ÉÛÁõ©Û ¸Ûó¾ÛÛ¨Ûé, þùÁéõïõ ¼Û›ÛÁõ¾ÛÛ× ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ 
________ ÐüÛéýÛ ™öé.  

  (a) ÍÛÁõ”Ûà (b) ¶ÛïõÛÁõÛ©¾Ûïõ  (c) ›ä÷þùà-›ä÷þùà  

  The basic condition for price discriminating monopoly is the price elasticity of 
demand in each market should be _______. 

  (a) same (b) negative (c) different  

 (11) šýÛÛÁéõ þéùÉÛ¾ÛÛ× Í¤øàÅÛ¶Ûä× ïäõÅÛ Š©¸ÛÛþù¶Û ïõÁõ©Ûà …éïõ ›÷ ¸Ûé§øà ÐüÛéýÛ …¶Ûé ïäõÅÛ Í¤øàÅÛ¶Ûé ”ÛÁõàþù¶ÛÛÁõ 
…éïõ ›÷ •ÛóÛÐüïõ ÐüÛéýÛ, ©ÛÛé ©ÛéÈÛà ¸ÛÜÁõÜÍ¬ÛÜ©Û¶Ûé ________ ˆ›ÛÁõÛé ïõÐéüÈÛÛýÛ ™öé. 

  (a) Ü³ù¸Û“ÛàýÛ (b) Ü³ùÐüÍ©Ûïõ (c) ¸Ûæ¨ÛÙ ˆ›ÛÁõÛé 

  If a single firm produced all the steel in the country and only one firm purchased 
it. It would be characterized as a _______. 

  (a) bilateral monopoly (b) duopoly (c) pure monopoly 

 (12) ˆ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ¶ÛÛ× ¼Û›ÛÁõ¾ÛÛ× Š©¸ÛÛÜþù©Û ÈÛÍ©Ûä…Ûé …éïõ¼Ûà›Û¬Ûà ________ ÐüÛéýÛ ™öé.  

  (a) …ÅÛ•Û  (b) ÍÛ¾ÛÛ¶Û  (c) …éïõÄõ¸Û 

  In monopolistic competitive market the products are _______ to each other. 

  (a) differentiated (b) same (c) homogeneous 

 (13) ________ ”Û˜ÛÙ …é ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ¶ÛÛ ¼Û›ÛÁõ¾ÛÛ× …ÍÛÛ©Û©ýÛ ¸Ûæ¨ÛÙ ›ÛéÈÛÛ ¾ÛÇé ™öé.  

  (a) Š©¸ÛÛþù¶Û  (b) ïäõÅÛ  (c) ÈÛé˜ÛÛ¨Û 

  _______ expenditures are inconsistent with perfect competition. 

  (a) Production (b) Total (c) Selling  

 (14) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ×•Û Áéõ”ÛÛ¾ÛÛ× ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÈÛµÛé ©ÛÛé Ýïõ¾Û©Û ________ ™öé.  

  (a) –Û¤éø  (b) ÈÛµÛé  (c) ÜÍ¬ÛÁõ ÁõÐéü  

  In Kinked demand curves, if the marginal cost increases, then price _______. 

  (a) decreases (b) increases (c) remains stable  
________ 


	NF-112 
	November-2013 

